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A particle shows distance-time curve as | 1. 2,03 30993 ZRT-33o0T d@a@ Bea303d
shown in the figure. The maximum | A 5
instantaneous velocity of the particle is wgﬁ@tmebm’mhd. 83 36a03 ﬁbe%ée%@g
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A cup of tea cools from 65-5°C to 62:5°C in
1 minute in a room at 22-5°C. How long
will it take to cool from 46-5°C to.40-5°C
in the same room ?

(A) 4 minutes
(B) 2 minutes
(C) 1 minute

(D) 3 minutes

The dimensions of the ratio of magnetic
flux (¢) and permeability (p) are

Aa) MO°L1TO Al
@) MOL3T0Al
© ™M°LiT!AY

(D) [MO L2 TO Al] g

A mass ‘m’ on the surface of the Earth is
shifted to a target equal to the radius of
the Earth. If ‘R’ is the radius and ‘M’ is
the mass of the Earth, then work done in

this process is

mgR

(A) 9

(B) mgR

(C) 2mgR @) =8k

22:5°C SOTBRINTOD BB, 2,080
BT® BFo 65-5°C 0T 62-5°C 1 1 DOOREE,
Zomongd. wdle dremoddd) 46.5°C 0T
40-5°C 1 Somonen ~am),  Iaood
BR3BRWZS ?

(A) 4 ddoTnsd

(B) 2 QéoRNd

€) 1=

(D) 3 JawRH

Bodecd FE¥, (9). DB WHI () 1Y
0TI E$03RR0R) 3N,

A MOL'TOAY

® MOL3T0AY

© MOLiT!ATY

D) M°L2T10Al
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Sobendy denod guf Amms
BRTEATE  rodn ;é@..’aoa’a#emnd.
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mgR

(A) 5 (B) mgR
(C) - 2 mgR (D) -“%R
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First overtone frequency of a closed pipe
of length ‘7’ is equal to the 274 harmonic
frequency of an open pipe of length /5 .

The ratio l—l =
Iy

(A) (B)

N[O ]
Wi ok

(C) (D)

The resistance R = % where
V=(100+5)VandI=(10+0-2) A.
The percentage error in R is

(A) 52%

B) 48%

©C 7%

(D) 3%

A block rests on a rough inclined plane
.making an angle of 30° with the
horizontal. The coefficient of static
friction between the block and the plane
is 0-8. If the frictional force on the block
is 10 N, the mass of the block is
(g =10 ms2)

(A) 1kg
B) 2kg
(C) 3kg

(D) 4kg

1’ SORITOR 2,000 dwz%d Ioleoovs)

© BRBON VPZTT &:[3030 Iy’ LVTTOT

2,083 3T BFR0D HTBS Bonen B er

ZROTNS. TS % i
2

(A) (B)

©) (D)

DO oo
Wb ok

3neg R=¥, V=000£5V =3

1=(10+02) A, T8, Beel R ST dneR

3e303

(A) 52%
B) 48%
© %
D) 3%

2WOT 200T RBeRB S
BR0DER0EOZ, 30° BRSTEY 2O
QR0 oed AFY ABOQTIN, Boow
W03 DREONY SRODT FOWPRFE 0-8.
3030 BeOT PREB we 10 N, 33,
B0RIDT T, (g =10 ms2)

(A) 1kg
B) 2kg
(C) 3kg
(D) 4kg
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10.

11.

12.

Two particles of masses m; and m, have

equal kinetic energies. The ratio of their
momenta is

(A)
(B)

my : iy
m2 o ml
©)

D) m2:m

The pressure at the bottom of a liquid
tank is not proportional to the

(A)
(B)
©)
D)

Acceleration due to gravity
Density of the liquid
Height of the liquid

Area of the liquid surface

A Carnot engine takes 300 calories of
heat from a source at 500 K and rejects
150 calories of heat to the sink. The
temperature of the sink is

(A) 125K (B) 250K
(C) 750K (D) 1000 K

Pressure of an ideal gas is increased by
keeping temperature constant. The
kinetic energy of molecules

(A)
B)
©)
D)

Decreases
Increases
Remains same

Increases or decreases depending on
the nature of gas

10.

11.

12.

(A)

m; S my; TR, S0  Fearied
ADWOT  BIODIY  BRODN, SN
TOTEN HIT3R)

mj : my

(B)
©

my : my

Jymy @ Jmg

(D) mf : mg

TBITOB 6,05 IYRY, 1B IR
0TS0 SN,

(A) nooog Sertpegmr

(B) TIB T3

C) TITIT

D) TR Boeg S dyeedr

TODOF S D02, 500 K ZoDI000dor

300 TSRO DT IR030IB, 0B

150 53, C0e0 T2, oD BRTE DRI,

&R ToD BRTT YOFY

A) 125K (B) 250K

(C) 750K (D) 1000 K

30 FFODY, BTIFT IOT LIBI),

TN VN WOT B

A) BRI SROJD

(B) Bemromyd

(C) morteodoe GuPodNFD

(D) @O PIT  Bed BRI
B0 TR SNOTYTO
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13.

14.

15.

A man weighing 60 kg is in a lift moving
down with an acceleration of 1-8 ms2.
The force exerted by the floor on him is

(A) 588N

(B) 480N

(C) Zero

(D) 696N

Moment of inertia of a body about two
perpendicular axes X and Y in the plane
of lamina are 20 kg m? and 25 kg m?
respectively. Its moment of inertia about
an axis perpendicular to the plane of the
lamina and passing through the point of
intersection of X and Y axes is

(A) 5kgm? (B) 45 kg m?

(C) 125kgm? (D) 500 kg m?

Two wires A and B are stretched by the
same load. If the area of cross-section of
wire ‘A’ is double that of ‘B’, then the
stress on ‘B’ is

(A) Equal to that on A

(B) Twicethaton A
(C) Halfthaton A

(D) Four times that on A

13.

14.

15.

22) BT 1-8 e B 2 00N
BORE OFFY, 60 3.0 TBRoLRS,
Tomes OFTS TRBORY ORI Boed
33030eNROT WO

588 N

480 N
oy
696 N

(A)

(B)
(©)

(D)

2,080 FONT %d@db&éﬁ), SBRINDS
e 1 ©ormNdR X I Y wgnen
eaomoeaeon 20 kg m? 3 25 kg m?

BACOZS, ToPES & AT @R

(X 3B Y) BRI Tone BETBERR,
©OWTNDR TDBOTY, LT WREZD
T SNBZ.

(B) 45 kg m?

(D) 500 kg m?

5 kg m?2
12-5 kg m?2

(A)
(C)
RABOPT BROQTIT BB 03N A &R
B N3, ‘A’ 30803 BEITT DReLOFT|Y,
Qrosenevamen B © Bded ¢0oEnds
QeBID)

(A) A B 2eBIE FTNTOZS

(B) AT 2BIT TR BERNTOTT

(€) AT 2BEIC OPFBABZH

(D) AT LBIB o0, BeRNSOZE
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16. The magnitude of point charge due to

17.

18.

which the electric field 30 cm away has
the magnitude 2 NC~1 will be

A) 2x10l1c
B) 3x101l1¢C
(©) 5x1011¢C
O 9x10711¢C .

A mass of 1 kg carrying a charge of 2 C is
accelerated through a potential of 1V.
The velocity acquired by it is

(A) V2 ms?!

(B) 2ms’!

© % ms]

D) % ms~1

The force of repulsion between two

identical positive charges when kept with
a separation ‘v’ in air is ‘F’. Half the gap
between the two charges is filled by a
dielectric slab of dielectric constant = 4.
Then the new force of repulsion between

those two charges becomes

F
(A) 3

(B)

Do | =

©

N eS|

4F
(D) o1l

16.

17.

18.

2 NC™! Z@oeonsad 26° 568,003 30 cm
RRTBYDOR 2,000 HTT® SFeBT BRTe0

A) 2x1011cC
(B)
()}

(D)

3x 1011 C
5x 10711 C
9x 10711 ¢

1 kg T23030, 1V PR3, 2 C SBeBRI),
Clistelly THRBO BRODTVT HeNnw)

(A) V2 ms?

(B)

ADFI BeBRDE TR Word BeIN
SRS BRT PN, T BN SJING
BOIZ avRFD WO F SNIS wPyne
20308 9T BR) BRTBRY, AlaskleloNal
Qo8 4 VR ROFWEFOIWY &
$3eBNY IBAT BRI VBRFE WO

O, B8nRT.
F F
(A) 3 (B) 9
F 4 F

Physics

Space for Rough Work / 2,883 3033* P

(7-A)

Q@



19.

20.

21.

For the arrangement of capacitors as
shown in the circuit, the effective
capacitance between the points A and B is
(capacitance of each capacitor is 4 pF)

J—4;;1«“ —L4uF

A>—}: }—~B —— 4yuF
4 uF

=5 _l_4uF

(A)
(®)

4 pF
1pF

(B) 2uF
(D) 8uF

The work done to move a charge on an
equipotential surface is

(A)
(B)
(C)
(D)

Infinity
Less than 1
Greater than 1

Zero

Two capacitors of 3 pF and 6 pF are
connected in series and a potential
difference of 900 V is applied across the
combination. They are then disconnected
and reconnected in parallel. The potential
difference across the combination is

(A)
B)
©)

Zero
100V
200V

(D) 400V

19.

20.

21.

DoT3NY ziraecé%o:bdgL BRFR0BOTE,
3e0/T T8 oTINY oTES 4 pF Sltapie
A R B wouony G, /B
TOPBIROTO 0TS @a’%

4u
}«B — 4 uF

(B) 2uF
(D) 8uF

4 uF

(A)
©)

4 uF
1uF

2000 ARDPST  WBoeed 00, o
Aavk-y eﬁﬁesdzsi 8O =R o)
__ sh33I3.

A)  ©Z03

(B) 1308 585

(€) 1803 553

D) Beg

8 uF @33 6 pF 130T TR TN
Zeed et IRENG. IZwE 900 V
ITOOBOR[I),  BoSReNT.  podIne
DOIRERT WRE DR [F:  IRN0I3
wRBHODQERN, FRRT DT00I3 Sea),
&) 803, (0)

(B) 100V

(C) 200V

(D) 400V
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22.

23.

24,

Ohm’s Law is applicable to
(A) Diode

(B) Transistor

(C) Electrolyte

(D) Conductor

If the last band on the carbon resistor is
absent, then the tolerance is

@ 5%
B 20%
©) 10%
(D) 15%

The effective resistance between P and Q
for the following network is

R
3Q 3Q
VAVAYAVe
6Q
40 50
P Q
w Lo (B) 210
12
© 120 o Lo
21

22,

23.

24.

23377 S Q03R0 TORITHTO
(A) z%oiracs‘

® =G (D)
©) adiRgw

D) mET

2000 FFS SRrepIn EaJod wnR
Roged T3t  wYPWR  BReFIT

RBIBYo30 . &N
(A) 5% (B) 20%
©) 10% (D) 15%

33 31 2eoRTOT POTEY P w03y Q N

03, oYk nlabin] 2830, TR

R

30 30
WA

6Q
40 50Q
P Q
@ Lo B) 21Q

12
1

© 120 @ 0
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25.

26.

Five identical resistors each of resistance
R = 1500 Q are connected to a 300 V
battery as shown in the circuit. The
reading of the ideal ammeter A is

1..
(A) EA

(9)

ol o
>

Two cells of internal resistances r and ry

and of same emf are connected in series,
across a resistor of resistance R. If the

terminal potential difference across the

cells of internal resistance r; is zero, then

the value of R is
(A) R=2(r; +r9)
B) R=ry-nry
(C) R=ri-rg

(D) R=2(r;-1y)

25. R = 1500 Q B3 2.03¢

26.

WO 5
dmeqﬂﬁ%ﬁdg{ 300V w0 deern
RRRORTD PRI Do0BOTE) Zpe0T.
ST WNFTT (A) deBoN® .

3oov%_[_ R R %R R gR
4 . @ -

(B)

(A)

| =
>
ot
>

©) (D)

o b
>
O
>

20T L. dRT.QF. Y, TR RSNy
©5080% BREGHY) ry WA 1, pelavh a@ﬁd&;
R B¢ draez,ﬁéc BN Beed PoTHE),

HpeBREING. ©0308 CRel r; 3 w@d

BOFICT QP38 BRI TONIH.
TNES, R 23

(A) R=2(r; +1p)
B) R=ry-1
© R-= r)-Ty

(D) R= 2(1‘1 — I'2)
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27.

28.

The I-V graphs for two different
electrical appliances P and Q are shown
in the diagram. If Rp and Rq be the
resistances of the devices, then

N
Q
P
I
0) S0 1
(A) Rp=Rq (B) Rp>Rq
Rq

The correct Biot-Savart law in vector
form is

N -> -
HO I(leI‘)
A) dB=24Y% —— "~ -
(A) = 2
55 o
B) dg_u_o Id! xr)
4n r3
N -
Id!
C) dB =t
(®); in 2
_)
Id!
D) dB =10,
(D) 47 r3

27. P 03 Q 0% 0RO TGRS - V 3§ 33

28.

39NS08B. Rp «0B Ry b eIne
BRegENTNGT

M

Q
P
I
0 7 B L, >
(A) Rp=Rq  (B) Rp>Rq
R
(© Rp<Rq (D) Rp=—%
20037083° m’dc‘w o QOPRT
R0ed0eR ROB BT,
- >
- Idlxr)
Ho
A) dB =0 29XV
( ) d 411: r2
-> >
> 46 IdIxr)
Ko
B) dB =Ho 22 x1)
(Blgelc an 3
_)
_)
]J.O Idl
c) dB =Y
(©) =
_)
- 1d!
D) dB =to
(D) - 3
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29. An electron is moving in a circle of radius

30.

31.

r in a uniform magnetic field B. Suddenly

the field is reduced to g The radius of

the circular path now becomes

(A) B) 2r

N |+

© (D) 4r

N

A charge q is accelerated through a
potential difference V. It is then passed
normally through a uniform magnetic
field, where it moves in a circle of
radius r. The potential difference required

to move it in a circle of radius 2r is

A 2V (B) 4V

© 1V D) 3V

A cyclotron’s oscillator frequency is
10 MHz and the operating magnetic field
is 0-66 T. If the radius of its dees is 60 cm,
then the kinetic energy of the proton

beam produced by the accelerator is

(A) 9MeV (B) 10 MeV

(C) 7MeV (D) 11 MeV

29.

30.

31.

B 3 503339, womd HS8E, r
$%Y FBTD BORIT. Igese) To03Fe3
B - ’

5 OR) 3RDoerEd. FIS eI
WBR)TIO

(A) % (B) 2r

(C) i (D) 4r

V Qw0033 2080 q e:sﬁezﬁdabﬂ

wBoTery  BRAN, XX 5003 FZTFEA)
WO SN r SRBY RIT B8OV
RS &y, 2r &S, ¥ARe  WewordI
D083 Fea),

A 2V (B) 4V

C 1V (D) 3V

2,000 FBRENT  ©oBRT CRIFIR)
10 MHz &03) 3¢ @50 5003833 0-66 T
[OOFH. HBRHT D n¢ ExD 60
Ro.coe. QTR TWET  Adei
SRREFRFOOT Fp et Mg BB
BT BT BF03

(A) 9MeV (B) 10 MeV

(C) 7MeV (D) 11 MeV
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32. Needles Ny, Ny and N3 are made of a
ferromagnetic, a paramagnetic and a

diamagnetic substance respectively. A
- magnet when brought close to them will

(A)

(B)

(9);

(D)

33.
18

A)
(B)
©)

(D)

Attract all three of them

Attract N, strongly, N, weakly and

repel N3 weakly

Attract N; strongly but repel N,
and N3 weakly

Attract N; and Ny strongly but

repel Ng

The strength of the Earth’s magnetic field

Constant everywhere

Zero everywhere

Having very high value

Varying from place to place on the

Earth’s surface

32. Fdwe,

o WFy B  ToJCD

BRNPomT Ny, N w03 Ny 2020 3080
RN, 81 3RNY BT 2,000 FOBII),

colale]
A)  QOTIR BBAFROZE
(B) N; ) wWomN SBFRZE Ny

(©) N; ) womN SBAFAZE STS Ny
208 Ny NP, dermommon DBuFrROZTS

(D) N; 03 N, ndd — womn
SPAFRZE  $BS Ny o)
DBXFROIT

33. RRVOD T03FH)

A) QR FE wotde BNTIZTI

(B) o ¥ B3R5, SN3ZT

(C) B0 TFHNTBT

(D) oo Hed,  Boed WOTN

gessosmon @08y Ny &), gersowon
QBRFROZT

:?’D%faod Qd@toda N:D%*éd 20BN
&8ROI
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34. A jet plane having a wing-span of 25 mis {84. 25 m Qo R TRY, w0t 28
travéllingfhorizontally towa1f:ds east with ARRJF 3600 km/hr BN, 33ex
a speed of 3600 km/hour. If the Earth’s b - =
magnetic field at the location is 4 x 1074 T wpw"_ga 23®AD§C3 @oééj@@@ 4x10°T
and the angle of dip is 30°, then, the B T0338 30° f&@)ﬁ, ROTFS TR
potential difference between the ends of 3007 DG eDTOR DPFa0STTeRd
the wing is 2 ¢

(A) 4V
A) 4V
B) 5V
Gl © 2V
) 2v D) 25V
D) 25V
85. IBNINYE) B3RP, T,08 03B (X;)

85. Which of the following, represents the N j g ““w:’) 5
variation of inductive reactance (X;) with 3R DPS 6%%013 ) dasa%"" %Qbﬁoéd
the frequency of voltage source (v) ? Xp 4

Xy, A) i
(A) . >
v
Xy,
X:
L (B) _/
(B) "
%
Xy
X: ’
L4 © /
€ v
—V XL
Xy, /
di ®) ' N
(D) K v
——pV
Space for Rough Work / 2,883 3@33* :’gé
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36.

37.

38.

The magnetic flux linked with a coil
varies as ¢ = 3t2 + 4t + 9. The magnitude

of the emf induced at t = 2 seconds is
(A) 8V .
(B) 16V
© 32V
(D) 64V

A 100 W bulb is connected to an AC

 source of 220 V, 50 Hz. Then the current

flowing through the bulb is

5
(A) — A

1
(B) o A
€ 2A

3
(D) A A

In the series LCR circuit, the power
dissipation is through ‘

A) R
B) L
€ C

(D) BothLand C

36.

37.

38.

(A

3080 ROTYR T0BEES, FT°

b =3t2 + 4t + 9 RoTBFATPN, t = 2
FBoBSY BeTed DT QY. ITF.OFE. I
RR0ED

8V

16V

32V

64V

(B)
(%)
(D)

100 W 3 2,00 weﬁ 220 V, 50 Hz 43&
TOIRFOD AT wITE WeeRATR ¢
VYR B03T0BC BOAIVR DT3B

B3 LOR peorsoodond cinayas
S0am030 TRGE T LYRED

(A R

B) L
() C

(D) L&A C

Physics.
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39.

40.

41.

(D)

In Karnataka, the normal domestic power
supply AC is 220 V, 50 Hz. Here 220 V
and 50 Hz refer to

(A)
(B)
(®)

Peak value of voltage and frequency
rms value of voltage and frequency

Mean value and

frequency

of voltage

Peak value of voltage and angular
frequency

A step-up transformer operates on a
230 V line and a load current of 2 A. The
ratio of primary and secondary windings
is 1 : 25. Then the current in the primary
is

(A)
(B)
(®)
D)

25 A
50 A
15A
12-5 A

The number of photons falling per second
on a completely darkened plate to
produce a force of 6:62 x 10° N is ‘n’. If
the wavelength of the light falling is
5x 107 m, then n = x 1022,

(h = 662 x 10734 J-g)
@A 1
B) b5
(©)
(D)

0-2
33

39.

40.

41.

~(B)

IFUBRY, NE evTodeensn wIRKE AC
DT w¥dodw 220 V, 50 Hz, |c3S.
TOMTT 3 220 V 03 50 Hz 2033

&) OPST or 3 oy @

DPRT rms VS =03 5@

PR ZooR0 BS R 5533
PR Zon W3S 3 Brew ey

©)
(D)

230 ARNFIH PR T 2A Snped
Teo® BRoOTIH NOF JOBIFIR [
ROTOP 0By HGeodT TN 0TI
1: 25 ¥BC8 TR RPN, BOCIVS
DBT BEoBD)

(A)
(B)
(®)
(D)

25 A
50 A
15A
125 A

6:62x10° N wedﬁg{ SUBIRIED ROTREE
BINTO 3&«1033@0 2,00 FFoRN WTT Boees
WedeIeTn  Joewo nd Tos, ‘n’ &N,
2983 30on BeSY 5 x 107 m &NFY,
n=__ x10%2 (h=662x10734Jg)

A 1

B) 5

(©) o2

(D) 33
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42. An object is placed at the principal focus | 42. &¢I TIFOT B[HOS ROME0  WOBONIA,
of a convex mirror. The image will be at 2,00 5;.\)955% ‘3?33%7{, 338 @») 8200 €,
(A) Centre of curvature SRR
A) =330 Feod
(B) Principal focus i L - =
(B) TPoS FoNO WO
(C) Infinity
(C) A pEd
(D) No image will be formed D) BeWow AR Q
43. An object is placed at a distance of 20 cm | 43. WO dﬂ"‘b_pdsi 10 Jo.aoe. #Qﬁm
from the pole of a concave mirror of focal BRTDTOH 20T 35% TEEEIT 00T
length 10 cm. The distance of the image 20 Ro.ove. TRIOTEY JBSRNT. T
formed is SVOLOTREIR BEWoWT BRSR)
(A) +20em (B) +10cm SNTIT.
(A) +20cm (B) +10cm
(C) -20cm (D) -10cm-
(C) -20cm (D) -10cm
. A
44. A candle placed 25 ¢cm from a lens forms 44. 200 FRRTOCT 25 em @oédd@odad
an image on a screen placed 75 cm on the O IAJIIRAL TN @3?2)0&)@ BORRTT
other side of the lens. The focal length Qé@(od) FBR 75 cm 030D, Fo£0IT.
and type of the lens should be TOMOWT WHRERT TORRT OBNRTD R0
TONBOBRTIR ?
(A) + 1875 cm and convex lens o Lok
(A)  e3 FORRT BOZ) +18:75 cm
(B) - 1875 cm and concave lens
(B) 2% R0 B8 -1875 cm
(C) +20-25 cm and convex lens ]
(C) eI DORPT B3 +20-25 cm
(D) - 20-25 cm and concave lens D) deoqaﬁam’.rad 253y ~20-25 em
Space for Rough Work / %083 3@‘»‘% #@%‘3
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45.

46.

47.

A plane wavefront of wavelength A is
incident on a single slit of width a. The
angular width of principal maximum is

A 21

(A) (B)

(®) (D)

> o
N
>

In a Fraunhofer diffraction at a single
slit, if yellow light illuminating the slit is
replaced by blue light, then diffraction
bands

(A)
B)
©)
(D)

Remain unchanged
Become wider
Disappear

Become narrower

In Young’s double slit experiment, two
Ay = 780 nm

used to

wavelengths and
Ay = 520 nm
interference fringes. If the nt® bright
band due to A; coincides with (n + 1)th

bright band due to Ay, then the value of n

are obtain

is

Aa 4
(B) 3
© 2
(D) 6

45.

46.

47.

A 30ormoBTRE,  BOOMBVDII), 9B
2e$ONoRBOD Boeed TOCWRT. ACYMOBOR
onY a ©NSO JpeI TFB  TedpdHd
BP0 &N

2A

a

(A) (B)

a

(®) T

(D)

> o[>

DB AN T TP ABIFIODE,
2D RO0ROHRY, WENATHR TID Ve
WesS  wadR [ed  wem WPy
NUTOSRENATT, QBFS LI0T TS

(A)  [BTR oIS

(B) enowmnIds

(C) BTN

D) s0mr3s

oddore® Qaesbrdod B,03ReNTE),
M = 780 nm &R A9 = 520 nm
300rwodTT W evmodeeny BB
WP F[8BTed owrnth TeRB. nth
BFBTLIOD ZomoZT Ay ERIR (n + DR
TBTOBLLOD Ay WRSRRRWN, n I B

A 4
(B)
©)
(D)

S N W

Physics

Space for Rough Work / 2.8t 3&%3* P

(18 — A)

@



48.

49.

In Young’s double slit experiment, slits
are separated by 2 mm and the screen is
placed at a distance of 12 m from the
slits. Light consisting of two wavelengths
6500 A and 5200 A are used to obtain
interference fringes. Then the separation
between the fourth bright fringes of two
different patterns produced by.the two

wavelengths is

(A) 0-312mm

B) 0123mm

(C) 0213mm

(D) 0412 mm

The maximum kinetic energy of emitted

photoelectrons depends on

(A) Intensity of incident radiation

(B) Frequency of incident radiation

(C) ' Speed of incident radiation

(D) Number of photons in the incident

radiation

48.

49.

030N Qaedrion Todrenme),
Besbrdoans IBNS  @osT
2eonoR B TP IBIDT 9030
12 m @@ 6500 A =03y 5200 A
rcjolelgplortezal QTR De803d
WIocoErdR  TouSead  Zadd
OB NS . IR 22030 '

2 mm,

(A) 0-312mm

(B) 0123 mm
(C) 0213 mm

(D) 0412 mm

Pperdn  SIRPI  Noxk  WoSTFOID

9OV WNTIT)T
(A) &8 DIV 3633
B) ©T3 é)&dsad S
(C) 303 D§TeT Sen

(D) &I VIVLHTAR FpeeSNY Fos;

Physics
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50. A proton and an o particle are accelerated | 50. 2.0T3¢ 032038 V I&), w080 Fp,eLdNd
through the same potential difference V. B 0-FNFD  ©B0BeeF  ZREmR
= o ~ ~ ’

The ratio of their de Broglie wavelengths
is ¥ Ex SRINY B¢ 219, Z0TPOZT BROTDE,

Aa) 2 A V2
B) 243 (B) 22
© 3 ©) 3
(D) 243 (D).242

51. T[RRERT BORBREONS 0BT oS,

51. The total energy of an electron revolving

in the second orbit of hydrogen atom is Q@f’%@“ ?'0%5_‘32
(A) -136eV (A) -136eV
(B) -1-51eV (B) -1-51eV
(C) —34eV (C) -34eV
(D) Zero (URZEy
52. The period of revolution of an electron in | 52. @R ew® WOBREVDTA),  Pe
the ground state of hydrogen atom is T. 2 3@@0&5 @@3@@‘ RoBymSanen 3R>
The period of revolution of the electron in o .
the first excited state is ' ' é‘m’bv ©se T, o008, Ze0e w0gees3
RSODY HSTRT ROBTSOES TG
A) 2T ¥
(B) 4T GRS
(B) 4T
(C) 6T
(C) 6T
(D) 8T
(D) 8T

Space for Rough Work / 2.083d 3033* ﬁ@%"
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53. The energy equivalent to a substance of

mass 1 gis

(A)
(B)
©)

(D)

18 x 1013 J
9x1018J
18 x 106 J

9x108J

54. The half-life of tritium is 12-5 years.
What mass of tritium of initial mass
64 mg will remain undecayed after

50 years ?

(A)
(B)
©)
(D)

32 mg
8 mg
16 mg

4 mg

55. In a CE amplifier, the input ac signal to

be amplified is applied across

(A)

(B)

©)

(D)

Forward biased emitter-base
junction

Reverse biased collector-base
junction

Reverse biased emitter-base
junction

Forward biased collector-base
junction

53. 1700 0287 A 3%

54.

55.

(A)
(B)
©)

(D) -

18 x 1013 J
9x1013J
18 x 106 J
9x108J

EIROVOT BTOFOINEY 12-5 WRETFINT.

64 mg TRV TFTIBCWTIE 83203008

DT, BIRED 50 IRFNY TBT Fe30Zgmonas
.ed .

Forie YUPOTIZTI ?

(A)
(B)
(®)
(D)

DVOSREOD  ac 535353‘

32 mg
8 mg
16 mg
4 mg

Po?i@"éoce CE

BORFONT Y, TIHFRLO BFEWIT

(A)

B)

(©)

(D)

POOREE  WODR, DT -
ol
OB/RF 2O, Geﬁifwc‘-zs’# RO

OB/IF  WONF,  AQVTT-LIF
ROFD®
TOREE WO, 5@3%0‘-2376‘
el
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56.

57.

If A =1 and B = 0, then in terms of
Boolean algebra, A+ B =

A4 B
(B) B

) A

>

D)

The density of an electron-hole pair in a
pure germanium is 3 x 1016 m=3 at
room temperature. On doping with
aluminium, the hole density increases to
4-5 x 1022 m~3, Now the electron density

(in m~3) in doped germanium will be

56. A =1 33 B = 0 ¢33, 22090307°

57.

WeRNEIBI T[S A + B =

(A) B

vo]]

(B)

) A

>

(D)

BReROD  SITRNITE,
HgederJoDoRY, T -

2o BT
gog,
R0 AoTBc30 3 x 1016 m—3 e3nTs.
VT, BRe®
BRAOR Cog, FoBZo3N 4-5 x 1022 m3
SR, BEOIB BN By Beex®  SNTT
zécgeaoi?od AT OB (m? IQ)

euraes&)bz’owooaod

(A) 1x1010 s ON02EE
(B) 2 x 1010 @), 1x10%

(B) 2x1010
(C) 0-5x 1010

(C) 0-5x1010
(D) 4 x 1010

(D) 4x1010

Space for Rough Work / 8830 303#* %ﬁ?
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58.

59.

60.

The dc common emitter current gain of a
n-p-n transistor is 50. The potential
difference applied across the collector and

emitter of a transistor used in CE
configuration is, Vop = 2 V. If the

collector resistance, Rp = 4 kQ, the base
current (Ig) and the collector current (Ip)

are
(A) Ig=10pA, Io=0-5mA
(B) Iz=05pA, Io=10mA
(C) Ig=5pA, Ig=1mA

(D) Ig=1pA, Io=05mA

The radius of the Earth is 6400 km. If the
height of an antenna is 500 m, then its
range is

(A)
(B)
()
(D)

800 km
100 km
80 km
10 km

A space station is at a height equal to the
radius of the Earth. If ‘vg’ is the escape
velocity on the surface of the Earth, the
same on the space station is

times Vg
1 1
(A) 5 (B) 1
1 1
C) — ) I
© 5 e

58. n-p-n ERRAITS TRI* DT FToLT

59.

60.

Res®  50. CE  0oBdw  SnTooHe,
Bo3ReNAT  Qe0305y  Veg = 2V.
3980°S SRR R = 4 kQ, 63T, ¥°
380tr (Ip) R0y BSeFD* S0 (1) o
33

(A) IB = 10 },I.A, IC =05 mA

(B) IB =05 ]J.A, IC =10 II].A

©) IB=5|J.A, IC=1mA

(D) IB=1|J.A, IC=05II1A
PRMCD &, 6400 km SNTD, 2.0
B0t3e00 w3 500 m ST, VWO s,

800 km
100 km
80 km
10 km

(A)
(B)
©)
(D)

200 ReA® AW @edood §uE
RRTT HFVBAR. ‘v’ GedocDd e 3

DBeeET  BenNGY, O B
RRTSY, v, O0RE BRI,
1 I
(A) 5 (B) 1
1l 1
c — D) —
© 5 (D) 75
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